oMb FE

INCD

s H S5t

BE(-12m)ti ok B T

o [ 0 75 B =
SH5FE4H

= (FM3)



BHEERER 5B B 40 K 2 B (— 1 2m) SR B B T (2 D3)

% # 1R - ROk HsE 13 B B B & & =
EREIEE 336, 199, 621
HiEIE®E 43,987,865 + 97,023, 846 141,011, 711
HBEREE (BD) 10,399,980 + 32,263,388 + 1,324, 497 43,987, 865
HBREE (BL) 10, 399, 980
HBEREE (F) 339,614,621 x 9.50% ((3.85% x1.68 +2.00% x 1.100 x 1.02) 32,263, 388
BERERER 339,614,621 x 0.39% 1,324,497
RGEHEE 380,187,486 x 25.52% ((20.65% +1.87%) x 1.100 x 1.03) 97, 023, 846
TR 336,199, 621 + 141,011, 711 477,211,332
—REEERE 477,211,332 x 13.72% (13.72% x 1.00) — 5,610 65, 467, 784
LHRIRE 477,211,332 x 0.04% 190, 884
Ttk 477,211,332 + 65,467,784 + 190, 884 542, 870, 000
EERAER 4,134,112
MEREE 7,313,129
HRE 11,447,241 x 45.5% — 5,735 5,202,759
—RABERE 4,134,112 + 7,313,129 + 5,202, 759 16, 650, 000
RNEEBE 16, 650, 000




BHEERER 5B B 40 K 2 B (— 1 2m) SR B B T (2 D3)

% ffr\ B - Bk BT H B2 B & % wmoE
&t 542,870,000 + 16, 650, 000 559, 520, 000
HERFHELE 559,520,000 x 10.00% 55, 952, 000
FEIEE 615, 472, 000




BHEENRE 5B B 40 K 2 B (— 1 2m) SR B B T (2 D3)
% 5 g - Foktix B 2 id & 4

EREIRE 336, 199, 621
FEEE (—12m) 336, 199, 621
BLBERRT 336, 199, 621
WET 336, 199, 621
A E POV PEPL 332,903, 441
1-1 HERMITIA $2.0m L=19. Om 53. 00 614, 357 35, 632, 706

X
1-2 HERMITIA $2.0m L=21.0m 435.00 683, 381 297, 270, 735

&
A=AV E AT P2 ok 3,296, 180
1-3 > Fav/y 3 Vs 35 EELEm 1.00 3,296,180 3, 296, 180

Ey
HBREE FEL) 10, 399, 980
HER R 10, 399, 980
HBERRE 10, 399, 980
EZBEAHILHERE 3, 415, 000
B & LS 3, 415, 000
1-4 BEGLEER ¢400 GE#HEDO—F) h—F o E18m 1.00 3,415,000 3, 415, 000

=
ReE 6,876, 664




BHBEERNRE

LEEHEMRFECI2MBHRB TEENDI)

% [ R - KT E B =S {if ' #

REXE REERM 5,802, 981

1-5 REEHM ) FRP D18OPSE! 1.00 3,289,376 3,289,376
=

1-6 REEHMQ) FRP D180PSZ! 1.00 2,513, 605 2,513, 605
=%

=E 1,073,683

1-7 TR EMBERE 9. 2cd 10-PSE! 1.00 406, 875 406, 875
=%

1-8 ZHATHIFEE (1) FEldcd ORIE 1.00 602, 700 602, 700
=

1-9 BRBATHBFEE (2 FE14cd E-12, E-8E (/v F&EM) 1.00 64,108 64,108
=

BifiEEE 42,000

BT g8 42,000

1-10 KM EEE EIRENRE 1.00 42,000 42,000
=

KE - GEEREN 66, 316

KEREH 28,135

1-11 KEREH P EPLYPEY: 16 -3 1.00 28,135 28,135
=%

GERBRH 38,181

1-12 5EREH LR XS 1.00 38, 181 38,181




BHHEERNRE 5B B 40 K 2 B (— 1 2m) SR B B T (2 D3)

£ b3 R - BksHiE B % 2 B & &8 =

HEE 11, 447, 241
TERAEEH 11, 447, 241
BEERE 4,134,112
EERE 4,134,112
FryvoR—1)2s5 (BL) ¢ 66mm £ A FLFE50mkK i 2,662, 122
-1 ER—1U2T ) L 15.00 22,048 330, 720

m
2-2 BER—1) 252 HwBELT (LFELYLH) 61.00 36, 990 2,256, 390

m
2-3 BER—1 2T Q) mEt 3.00 25, 004 75,012

m
REIERE (8L) ZEEARR 1,471,990
2-4 ZEEARE HwBEt (LEXELYLH) 67.00 21,970 1,471,990

G|
fRERE 7,313,129
fRERE 7,313,129
B 168, 450
2-5 SRAEEH 1.00 168, 450 168, 450

=
REAE 201, 321
2-6 {uEHE (GBL) FSooy hHEIE 3.00 67,107 201, 321

Hh




BHHEERNRE 5B B 40 K 2 B (— 1 2m) SR B B T (2 D3)

£ [} g - BRTE B B = B (@ ® & W E
Bi5 4,993, 405
2-7 BIiZHIEAK RNy KEMR 1.00 636, 617 636, 617
=
2-8 E\%Eﬁfﬁ EBEBRERAY RS RE 1.00 212, 686 212, 686
) ELR
2-9 BEHE - BE-BRXRNAY bE BE 1.00 212,686 212,686
i) _
ELR
2-10 BHHRE - BE - BR(X/X\y bE BE 2.00 2217, 308 454,616
fta) -
& A
2-11 Ry FEMER JKiZE20mmA 1.00 3,476, 800 3,476, 800
=
E ik 1,921,015
2-12 Ri@EM - RBE 1.00 1,358,103 1,358, 103
=
2-13 #4hEk (1) R—yoo<iy 1.00 154, 262 154, 262
=
2-14 #40EE (2) R 1%y R A MK E20mER 1.00 408, 650 408, 650
=
BIEE 28,938
2-15 EIEBE 1.00 28,938 28,938
=




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

iS5 11
BFR: FEERHITA  ¢©2.0m L=19.0m 1B&Y (18.4XK)
2 [ I - BKTiE By H = B O{H £ % W = 5 &
B EEESmA) BMZ S5
m 3 1,591.73 2,000. 00 3, 183, 460
A=Y ERS 338 &55m
B 1.00 5,894, 989. 00 5,894,989 8.00H / 10H
AHY k=2 55 JRE 3.0m3 1000m3F&
=] 1.00 629, 674. 00 629,674/ 10H
&R $AD 25t/
B 1.00 832, 695.00 832,695 8H
=S U84 THRE - > RFavNy  E&56m Eri#iE1, 800~2, 000mm
<3 UmA] ZN 3.00 169, 950. 00 509, 850
GNSSRIfL 25 & A=Y EYS
B 1.00 82, 665. 00 82, 665
Y YE%E (10H/8)
A 4.00 28, 650. 00 114, 600
R 2 2&0Y%
% 0.50 11, 247, 933. 00 56, 239
& B YE¥£8EH - 18. 40K 614, 357. 00 11,304,172
&5 :1-2
BFR: FEERHITA  ¢2.0m L=21.0m 1B&Y (16.5K)
% E A - kTE B H = B {f & el = i &
RS mA) BMZ S5
m 3 1,577. 61 2,000. 00 3,155, 220
A=Y ERS 338 &55m
B 1.00 5,894, 989. 00 5,894,989 8.00H / 10H
Hy b= 55 JRE 3.0m3 1000m3F&
=] 1.00 629, 674. 00 629,674/ 10H
&R $AD 25t/
B 1.00 832, 695.00 832,695 8H
=S U84 THRE - > RFavNy | E&56m ERi#iE1, 800~2, 000mm
<3 UmA] ZN 3.00 169, 950. 00 509, 850
GNSSRIfL 25 & A=Y EYS
B 1.00 82, 665. 00 82, 665
Y YE%E (10H/8)
A 4.00 28, 650. 00 114, 600
R 2 2&0Y%
% 0.50 11, 219, 693. 00 56,098
& B YEZ£8EH - 16. 50K 683, 381. 00 11, 275, 791




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

HE5:1-3
B YRR 3 MR 3ELES55m X4y
4 L R - KT By = B i & %8 W = 5 &=
HoRavnyasih 338 &55m
B 1.00 2,2170,510.00 2,270,510 #£ A
Ay k=2 55 JRE 3.0m3 1000m3F&
=] 1.00 274, 420.00 274,420 £ F
&8 $HMD 25t/
B 1.00 392, 150. 00 392,150
=054 TR - o Rav/ny  E&55m EE#nEt, 800~2, 000mm
< avimA] Z:N 3.00 103, 000. 00 309, 000
GNSSRIfL 25 & Yo rRavnNs L avnA
=] 1.00 50, 100. 00 50, 100
& H fEErEH : 1.00 3,296, 180. 00 3,296, 180
ES 14
ZF: FABILEREEH 6400 GEHE7AO— ) A—T U K18m X5
2 Eu A - kTE B = B {f & el = i &
FABILREER
= 1.00 3,415, 000. 00 3,415, 000
=) &t YEEBEH : 1.00 3,415, 000. 00 3,415, 000
&S :1-5
4 L R - KT By = B i & %8 W = 5 &=
REERM FRP D 180PS%!
=] 31.00 105, 581. 00 3,273,011/8.00H / 10H
MM ESZNOY)
% 0.50 3,273,011.00 16, 365
=) g YEEBEH : 1.00 3,289, 376. 00 3,289, 376




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

S :1-6
2 L R - KT By = B i & %8 W = 5 &
REERM FRP D 180PSE!
=] 28. 00 89, 325. 00 2,501,100 6.00H / 8H
MM £HD%
% 0.50 2,501, 100. 00 12,505
& R YEEBEH : 1.00= 2,513, 605. 00 2,513, 605
&5 :1-7
A KTEEHMBFEE  JE9 2cd 10-PSE! 1X5Y
2 L R - KT By = B i & %8 W = 5 &
LT JE9. 2cd  10-PSHE!
= 1.00 387, 500. 00 387, 500
HERE BHOY%
% 5.00 387, 500. 00 19, 375
& &t YEEBEH : 1.00 406, 875. 00 406, 875
5 :1-8
B ZEITHEEER) SElded ORI 1X5Y
2 [ R - BKTE By = B i £ % W = 5 &
AT OARmE
= 1.00 574, 000. 00 574,000
HERE EHOY
% 5.00 574, 000. 00 28, 700
& it YEXREH : 1.00 602, 700. 00 602, 700
E#E5:1-9
A EBHEEE (2) JElded E-18, E-8E (R/Xvy FEM) 1XaY
2 Eu A - BkTiE B = B {f & &R = i &
Z AT 12, 14cd E-1%¢, E-8FY
= 1.00 61, 056. 00 61, 056
HERE EHEOY
% 5.00 61, 056. 00 3,052
& it YEEREH : 1.00 64, 108. 00 64, 108




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

H5:1-10
& HiTEEE HRIXEERE XY
2 L R - KT By = il & %8 5 &
BifTEEE E-RYUTHRE
IiE 1.00 42, 000. 00 42,000
& it fEErEH : 1.00 42, 000. 00 42,000
&5 . 1-11
& KEREH Yoo 3 M (3EEESm) XY
% E A - kTE B = il & &R i &
KERER
= 1.00 28,135. 00 28,135
= &t YEEBEH : 1.00 28, 135. 00 28,135
&ES . 1-12
&% GEREH HHREXE 1X5Y
2 L R - KT By = il & %8 5 &
SERRE
= 1.00 38,181.00 38, 181
& H fEErEH : 1.00 38,181.00 38, 181
H5 : 2-1
M BER—Y DT ) L 1B&Y (Tm)
% E A - kTE B = il & &R i &
R—=yvo<wiy 3. TkW#R
=] 1.00 8,231.00 8,231 8H
B A AT
A 1.00 53, 800. 00 53, 800
FEMERES
A 1.00 39, 100. 00 39, 100
WERES
A 1.50 29, 100. 00 43, 650
MM THERER
% 7.00 136, 550. 00 9,558
& R YEZXHBEH : 7.00m 22,048. 00 154, 339




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

E5 .22
& @BLER—YH Q) HBEL (LXELYLIH) 18&Y (4.8m)
2 L I - BT By = B O{HE & %8 W = 5 &
DA S 3. TkW#k
H 1.00 8,231.00 8,231 8H
B SR A
A 1.00 53, 800. 00 53, 800
FEMBERES
A 1.00 39, 100. 00 39,100
MmERES
A 1.50 29, 100. 00 43, 650
R 2 THEREH
% 24.00 136, 550. 00 32,772
& B 1E¥HEH - 4.80m 36, 990. 00 177, 553
HE5:2-3
ZMm BER—YH Q) WEL 1B&Y (6.5m)
% E A - kTE B = B {f & &R = i &
DA S 3. TkWik
=] 1.00 8,231.00 8,231 8H
B S A
A 1.00 53, 800. 00 53, 800
FEMBERES
A 1.00 39, 100. 00 39,100
MmERES
A 1.50 29, 100. 00 43, 650
R 2 THEREH
% 13. 00 136, 550. 00 17,751
& B 1E%HEH : 6.50m 25, 004. 00 162, 532




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

25 :2-4
2% ZEEAHR HBL (LFRLCYLTH) 1A&Y (8.1ED)
% E A - BkTE B = B {f & &R i &
DA S 3. TkW#k
=] 1.00 8,231.00 8,231 8H
B SR A
A 1.00 53, 800. 00 53, 800
FEMBERES
A 1.00 39, 100. 00 39,100
MmERES
A 1.50 29, 100. 00 43, 650
R 2 THEREH
% 24.30 136, 550. 00 33,181
& B YEX¥HrEH : 8.10[H 21, 970. 00 177,962
&S : 25
2% AEERE 1XzyY
% E A - kTE B = B {f & &R i &
B S A
A 1.50 53, 800. 00 80, 700
FEMBERES
A 1.50 39, 100. 00 58, 650
MmERES
A 1.00 29, 100. 00 29,100
= &t YEEBEH : 1.00 168, 450. 00 168, 450




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

&5 :2-6
&2 MERECEL) FSUPv RlE 1BEY (i)
4 L R - KT By = B i & %8 W = 5 &=
REE 54 kN2 2L
B 1.00 3,261.00 3,2612.00H / 8H
BIE M FRP D 70PS%E!
=] 1.00 45, 961.00 45,961 8H
i B R & LA
A 1.00 53, 800. 00 53, 800
FEMERER
A 1.00 39, 100. 00 39,100
WERES
A 2.00 29, 100. 00 58, 200
MM ESZNOY)
% 0.50 200, 322. 00 1,001
=) g YEZHBEH : 3.004h = 67,107.00 201, 323
B 2-7
2 BIFHIMEAK RNy FEM 1&EHY
4 L R - KT By = B i & %8 W = 5 &
i B R & A
A 2.00 53, 800. 00 107, 600
FEMERESR
A 2.50 39, 100. 00 97,750
WERES
A 7.00 29, 100. 00 203, 700
S7TL—=29L—r A AR ERER) CHEmEiEY J8)50tH
=] 3.00 74, 800. 00 224,400 8H
MM EXNOY
% 0.50 633, 450. 00 3,167
& B YEEREH : 1.00 636, 617. 00 636,617




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

&5 :2-8
£ BIGHRE - #E - BR RNy FER) RE 1#EAEY
4 L R - KT By = B i & %8 W = 5 &=
3 fia $fiD 100PSE!
B 1.00 80, 078. 00 80,078/2.00H / 8H
B SR A
A 1.00 53, 800. 00 53, 800
FEMBERES
A 0.50 39, 100. 00 19, 550
MmERES
A 2.00 29,100. 00 58, 200
MM EXNOY
% 0.50 211, 628. 00 1,058
& B YE¥rEH : 1.00&FR 212, 686. 00 212,686
H5:2-9
&% BIGHE - BE - B (X/\y FER) #BE BERED)
2 Eu A - kTE B = B & el = i &
3fin $fHD 100PSHE!
B 1.00 80, 078. 00 80,078/2.00H / 8H
i B R & A
A 1.00 53, 800. 00 53, 800
FEMERESR
A 0.50 39, 100. 00 19, 550
WERES
A 2.00 29,100. 00 58, 200
A EXZNOY)
% 0.50 211, 628. 00 1,058
= g YEZXBEH : 1. 006 FR 212, 686. 00 212,686




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

&S :2-10
& BIGHRE - BE - BR (XY FER) B 1#EAEY
2 L R - KT By = B i & %8 W = 5 &=
5l fh $MD 100PSZ!
=] 1.00 80, 078. 00 80,078/2.00H / 8H
B SR A
A 1.00 53, 800. 00 53, 800
FEMBERES
A 0.50 39, 100. 00 19, 550
MmERES
A 2.50 29, 100. 00 72,750
R 2 EXNOY
% 0.50 226,178.00 1,130
& B YE¥rEH : 1.00&FR 221, 308. 00 2217, 308
= :2-1
& RNy FEMIBRE KiE20mA X4y
2 Eu A - kTE By = B & el = i &
=t
= 1.00 3,476, 800. 00 3,476, 800
& R YEEBEH : 1.00 3,476, 800. 00 3,476, 800
5 :2-12
2 REM - REE 1KLY
2 [ R - BKTE By = B i £ % W = i &
K@M FRP D 70PS%E! 3.0t
=] 28. 00 44, 652.00 1, 250, 256 |8H
RBEHE 4 by 2L
B 31.00 3,261.00 101,091 2.00H / 8H
A £HRD%
% 0.50 1,351, 347.00 6, 756
= g YEEBEH : 1.00 1,358, 103. 00 1,358,103




Rffik -/ \v7r—o

LEEHBHMRFEC2MMBHRBE I E(ZDI)

HE5:2-13
B HEER() R—uriwiy XY
% A - BkTE B = B {f & &R = i &
gL—oftb3vY 4t 2t/
B 1.00 37, 095. 00 37,095 5. 80H / 8H
HWERES
A 4.00 29, 100. 00 116, 400
R 2 2&0Y%
% 0.50 153, 495. 00 167
& B fEErEH : 1.00 154, 262. 00 154, 262
ES . 2-14
B HEAMIER () RSy KEMKE20mER 1X5Y
% A - kTE B = B {f & &R = i &
S7TL—r9L—r HHARARERR) CHEM#E> J8) 50t A
=] 2.00 74, 800. 00 149, 600 8H
WERES
A 4.00 29,100. 00 116, 400
EiRE
= 1.00 141, 320. 00 141, 320
MR 2&0Y%
% 0.50 266, 000. 00 1,330
& B YEXREH : 1.00 408, 650. 00 408, 650
&S . 2-15
2 EIEEE X5
% A - BkTiE B = B {f & &R = i &
HEIEEE
= 1.00 28, 938. 00 28,938
& &t YEEBEH : 1.00 28, 938. 00 28,938

10




Bl

LEEHBHMRFEC2MMBHRBE I E(ZDI)

HifikES - 1-1
BERAF : o koo asfy 3:EELm 1B%Y 8.00H / 10H
% R R - BRI B % 8 B = % wm = w &
FihA
L 5, 206. 00 93. 50 486, 761
mER
A 1.43 28, 980. 00 41,441 3=1.43
=R E
A 2.86 28, 980. 00 82,882 3=1.43
LTEME
A 12.87 23, 730. 00 305, 405 3=1.43
BHE (FrRFavRosasm DE (3:E%) KR&E55m
B 8.00 216, 000. 00 1, 728, 000 TR
BH (o RavRsrasm DE (3:E%) K&E56m
H 1.65 1,970, 000. 00 3,250, 500 a=1.65 #AA
a it 5, 894, 989
HiiRES : 1-2
BEKREH: Ay b= F5T7FE 3.0m3 1000m3%5 1H%Y 10H
£ ] R - BARE B % 2 B i ® % IS ik =
FihA
L 450. 00 93. 50 42,075
SETAE
A 2.86 28, 980. 00 82,882 3=1.43
LTEME
A 2.86 23, 730. 00 67,867/ 8=1.43
B (Hy bn—2) D 1,000m3 3.0m3
H 1.00 158, 000. 00 158, 000 iR H
B (Hy k=) D 1,000m3 3.0m3
=] 1.65 169, 000. 00 278,850 a=1. 65 AR

& &

629,

674




Bl

LEEHBHMRFEC2MMBHRBE I E(ZDI)

Bii&kES : 1-3
HfiRka % . HiEf D 25t/ 1B4Y 8H
£ L g - BRTE BAGL 2 =R £ # = w &
EHhA
L 190. 00 93.50 17, 765
EiMmE
A 2.40 28, 980. 00 69,552 B=1.20
TEME
A 3.60 23, 730. 00 85,428 3=1.20
B GHER) D 25t
=] 1.00 226, 000. 00 226, 000 eIy =]
B (G D 25t@
B 1.65 263, 000. 00 433,950 o=1. 65 #“AA
= it 832, 695
BiiikES : 1-4
BElRLHF: Yo Fav/89 o3 U/ 38455 1BHEY #A
£ 5 B - ikt Bif = B @ ® & W B B =
WmEE
A 1.00 28, 980. 00 28, 980
Ry
A 2.00 28, 980. 00 57,960
LEME
A 9.00 23, 730.00 213,570
B (b FavnRsoavm DE (3:&%) E&50m
B 1.00 1,970, 000. 00 1,970, 000 #“AA
s 2,210,510
Bii&kES : 1-5
BREF : Ay bXA—2 F5TEE 3.0m3 1000m3FE 1HHY #HA
£ 5 B - ikt Bif = B @ ® & W B B =
EiMmE
A 2.00 28, 980. 00 57,960
TEME
A 2.00 23, 730.00 47, 460
BHE (Hy k=) D 1,000m3 3.0m3
B 1.00 169, 000. 00 169, 000 #RA
& Hi 274,420




Bl

LEEHBHMRFEC2MMBHRBE I E(ZDI)

BEfi&RES  1-6
Hifi&RAM &k 8D 25t THxY #A
% il Hg - BRTE L BB B £ # wm = w %
=ik &
A 2.00 28, 980. 00 57,960
LEME
A 3.00 23, 730. 00 71,190
#BH (e D 25t/
B 1.00 263, 000. 00 263, 000 A
& &t 392, 150
HfiRk&S : 1-7
BERAH  REHHM  FRP D 180PSE 1E4Y 8.00H / 10H
% # Mg - BRI Bifr BB H & & # wm = ® &
A
L 49. 00 93. 50 4,581
=ik &
A 1.43 28, 980. 00 41,441 B=1.43
LEME
A 1.43 23, 730. 00 33,933 B=1.43
¥ (@AM FRPHI) D 180PSE! 10.0GT
B 1.00 9, 390. 00 9,390 Bz
B¥ (R FRPR]) D 180PSE! 10.0GT
B 1.65 9, 840. 00 16,236 or=1.65 e
& 105, 581




Bl

LEEHBHMRFEC2MMBHRBE I E(ZDI)

BifikES : 1-8
Hifi&kAF . TEEEMRM FRP D 180PSE! 1H%Y 6.00H / 8H
£ L g - BRTE BAGL #H = i £ # = w &
EHhA
L 37.00 93. 50 3,459
EiMmE
A 1.20 21, 600. 00 33,120 3=1.20
TEME
A 1.20 22, 600. 00 27,120/ 3=1.20
#E¥ (3EM[FRPR]) D 180PSE! 10. 0GT
B 1.00 9, 390. 00 9,390 e T =|
#EH (@M [FRPE]) D 180PSE! 10.0GT
=] 1. 65 9, 840. 00 16,236 a=1.65 #“AA
& it 89,325
Bi&RES : 2-1
BREF : R—U 2T 3 Tk 1B4Y 8H
£ 5 B - ikt BRL % = fii ® & W E B =
(23]
L 9.00 127.50 1,147
B (K=< oaERD 3. TkW#k
=] 1.00 1, 640. 00 1, 640 eIy =]
B (K=Y oo o aERD 3. TkW#k
B 1.44 1, 800. 00 2,592 #“AA
BHE (U539 bR TERER]D it H 230~70L/min
=] 1.00 1, 280. 00 1,280 eIy =]
BH (U5 bR THERER]) it &30~70L/min
B 1.63 965. 00 1,572 #AA
= it 8,231




Bl

LEEHBHMRFEC2MMBHRBE I E(ZDI)

Bi&RES : 2-2
BfiREH : XBE 4 /N 2L 1H%Y 2.00H / 8H
£ 5 g - BRHE BRL 2 i ® & i B =
AV
L 6.00 147.50 885
B (54 bV [ZHERE]) FHEEALIE HRE2.0L
Bf 2.00 290. 00 580 B
B (54 MU [ZEHERE]) FHEBM HR=E2.0L
B 1.19 1,510. 00 1,796 #AA
& it 3, 261
HiiRES : 2-3
Hffi&4& % : Bl=M FRP D 70PSE! 1H%Y 8H
£ 5 g - BRHE BRL 2 i ® & i B =
EHA
L 44.00 93. 50 4,114
SRMmE
A 1.20 27, 600. 00 33,120 B=1.20
B (@M [FRPE]) D 70PSE! 3.0GT
B 1.00 3, 200. 00 3,200 e T =|
B (@M [FRPE]) D 70PSE! 3.0GT
B 1.65 3, 350. 00 5,627 a=1.65 #AA
& it 45, 961
HiiRES : 24
BERE: S7T7L—2IL—r REARRER) GhEMHES TR)0tH 1HZY 8H
£ 5 g - BRHE BRL 2 i ® & i B =
g (S57FL—rHL— hEMES 50tH
7 B 1.00 74, 800. 00 74, 800
& &t 74,800




==X liiE TR X B (— 1 2m) HE AR B B T (2 D3)
BfRES : 2-5
Hm*FLF : 54 SHD 100PSHE! 18%Y 2.00H / 8H
2 ] B - IR B B i & % 1 w =
B HA
L 23.00 93. 50 2,150
ERMmE
A 1.20 27, 600.00 33,120/ 3=1.20
Y=
A 1.20 22, 600. 00 27,120/ 8=1.20
BE GImiEE) D 100PSEI
B 2.00 924.00 1, 848 B ER R
BE GIMEED D 100PSE
B 1.65 9, 600. 00 15,840 o=1.65 #HEE
& & 80,078
BHRES : 2-6
BlRAF : &M FRP D 70PSE! 3.0t 1B4Y 8H
2 # IR - AR B B 1 & # i H =
=5mA
L 30. 00 93. 50 2,805
Y=
A 1.20 27, 600.00 33,120/ 3=1.20
B (K@M FRPE]) D 70PSE! 3.0GT
B 1.00 3, 200. 00 3, 200 EELH
B (K@M [FRPAE]) D 70PSE! 3.0GT
=] 1.65 3, 350. 00 5,527 a=1.65 #HEE
& it 44,652




==X iiiE S TR X B (— 1 2m) HE AR B B T (2 D3)

HifikES : 2-7
BERAF : JL—2F b5y o A5 2tR 1H%Y 5.80H / 8H
£ L R - BKTE By H = B {f il £ W = w &

B

L 33.00 127.50 4,207
EELF (3%

A 1.00 22,100. 00 22,100
BHE (v o[V L—VEERD RN—X rSvY4~4 5t mEEH2. 0t

il 5.80 539. 00 3,126 e INC|

BHE (S o[V L—2EEMD RNR—RX S5y H4~4 5t MmEEH2 0t

B 1.23 6, 230. 00 7,662 #RA
& £t 37,095




